Number Squares - Solutions
Note: Pupils should show full workings! Individual workings can obviously be different depending on the cell pupils choose to label as their starting value a. The final two questions have multiple solutions, an example is written below.
Piece A




Piece B



Piece C




   

   


	3a + 3 = 117

3a = 114

a = 38
	5a + 50 = 215

5a = 165

a = 33
	3a + 33 = 75

3a = 42

a = 14






   

   



Pieces D and E


  

  4a + 23 = 3a + 33

  a + 23 = 33

  a = 10                    


  

Piece F in any orientation, including being flipped over



4a+15 = 99



4a = 84




a = 21





Piece G
Piece G has a total of 64 and is made up by covering 4 squares. What could the piece look like and where is it placed?




4a = 64



a = 16

     a     
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